
TEST 1

Choose the word whose underlined part is pronounced differently from the others:

1.
a. merely
b. access
c. address
d. respect

2.
a. regard
b. master
c. trade
d. particular

Choose the word whose main stress is placed differently from the others:

3.
a. property
b. instruction
c. scholarship
d. lecturer

4.
a. interesting
b. necessary
c. involved
d. language

5.
a. automatic
b. reasonable
c. mathematics
d. preservation

Make the correct choice :

6. The pronunciation _____ me a lot of difficulties. 

a. provides
b. causes
c. makes
d. allows

7. Malaysian lecturers use English when _____ their students in Kuala Lumpur. 

a. speaking
b. saying
c. giving
d. addressing

8. More than half of the _____ and research journals are in English. 

a. scientific
b. scientist
c. science
d. scientifically

9. Instead _____ studying, Margaret went to a ballgame with some of her friends. 

a. of
b. with
c. along
d. off

10. Mrs. Grant insisted _____ the whole truth. 

a. in
b. on
c. up
d. at

11. There are some differences _____ British and American English. 

a. of
b. about
c. between
d. with

12. I’m not going out yet. I’m waiting _____ the rain to stop. 

a. in
b. during
c. on
d. for
13. I wrote to the company asking them _____ more information about the job. 

a. to
b. about
c. for
d. with

14. I hope you succeed _____ finding the job you want. 

a. in
b. at
c. of
d. upon

15. Do you _____ smoke? There’s a fire down the road. 

a. feel
b. ever
c. smell
d. usually
16. Parks play an important _____ in helping to form the city’s character. 

a. game
b. thing
c. roll
d. part
17. It is _____ to regard any language as the possession of a particular nation. 

a. reasoning
b. reasonably
c. unreasonable
d. unreasonably

18. A Dane and a Dutch person _____ in Rome will almost automatically find themselves speaking to each other in English. 

a. meeting
b. met
c. meet
d. are meeting

19. People in _____ speak _____. 

a. Portugal/Portugal 

b. Portuguese/Portugal
 
c. Portugal/Portuguese 
d. Portuguese/ Portuguese

20. English is easily _____ by Chinese. 

a. outrun
b. outnumbered
c. outlived
d. outweighed

21. You had _____ the bill before the fifth of the month. 


a. to pay
b. been paid
c. to be paid
d. to be paying

22. The tea was ______for her to drink. 


a. so hot
b. very hot
c. too hot
d. extremely hot
23. If it doesn’t rain, they _______for a picnic. 


a. go
b. would go
c. have gone
d. will go
24. The child will die if _____ sends for a doctor. 


a. people
b. anybody
c. nobody
d. police

25. Nobody believed _____ a crazy story. 


a. such
b. so
c. that
d. with

Identify one underlined word or phrase that is incorrect:

26. She wanted to know how long it would take us getting there.

A
B
 C
D
27. The children were frightened with the noise.

A
B
 C
D

28. The crops are late this year because of the weather is cold. 

A
B
 C
D
29. They didn’t go to the movies because the bad weather. 

A
   B
 C
D
30. He walked slower because of his injured legs. 

A
B
 C
D

Read the following passage and make the correct choice:

A

lthough English is spoken in many countries, it is not (31) _____ an international language. This is because it gives an unfair advantage to countries, like the USA and Britain, which use English (32) _____ a first language. A truly international language would be one (33) _____ had to be learned as a second language by all countries, making everyone equal. This was the opinion of Ludwik Lejzer Zamenhof, who, in 1887, (34) _____ the world’s most successful international language, called Esperanto. The word Esperanto means “one who hopes” in that language. Zamanhof hoped that if everyone in the world (35) _____to learn one language, it would help create goodwill and friendship between nations. Esperanto is now spoken in about 90 countries (36) _____the world and many newspapers and books are (37) _____ in it. Some schools even offer courses in Esperanto. However, until Esperanto is a compulsory subject in schools everywhere, it will not become the means of international understanding Dr Zamanhof (38) _____ for. 
31. 
a. necessarily
b. really
c. actual
d. certain

32. 
a. with
b. as
c. by
d. in

33. 
a. who
b. where
c. which
d. when

34. 
a. created
b. did
c. performed
d. finished

35. 
a. is
b. were
c. would 
d. could

36. 
a. all
b. through
c. around
d. over

37. 
a. published
b. spoken
c. carried
d. taken

38. 
a. waited
b. looked
c. searched
d. hoped

Read the text carefully and then choose the correct answers. 
M

ost of the people who like films are only interested in the leading actor or actress when they enjoy a film. It seems to them that it is only the actors or actresses that have made the film successful and interesting. They always pay attention to the actors’ or actresses’ appearance, performance, and fashion. There are many film viewers who have no awareness of the other people’s work to make a film. A finished film, actually, is the result of the collaboration of many persons, and the most important among them are the scriptwriter, the cinematographer, the film editor, the actor, and the director. Especially, in some thrilling scenes, the roles of the stuntmen are very important. They are always in danger when they are acting, some of them are even badly hurt or dead. But what a pity, many film viewers rarely appreciate their work. { collaboration : hợp tác nhiểu người} 
39. To many film viewers, _______. 
a. the director is the most important. 
b. no one is more important than the leading actor or actress. 
c. the stuntmen play the most important role. { stuntmen: replaced men}

d. the most important person is the cinematographer. 
40. Many film viewers always pay attention to _______. 
a. the director’s name and appearance. 
b. the pictures taken by the cinematographer. 
c. the leading actor’s or actress’ family. 
d. the actors’ and actresses’ appearance, performance and fashion. 
41. A finished film is the result of the collaboration of _______. 
a. many persons 

b. the leading actor and the director

c. the actors and actresses 
d. film viewers and the directors

42. The work of stuntmen are _______. 
a. secure
b. dangerous
c. interested
d. thrilled

Choose the correct sentence which has the same meaning as the above one :

43. It is more difficult to learn to speak English than to learn to write it. 
a. Learning to speak English is more difficult than to learn to write it. 
b. Learning to speak English is as difficult as learning to write it. 
c. Learning to speak English is more difficult than learning to write it. 
d. Learning to speak English is not so difficult as learning to write it. 
44. They built the school in 1990. 

a. The school was being built in 1990. 

b. The school was built in 1990. 

c. The school was building in 1990.
 
d. The school which was built in 1990. 
45. The house with the white wall is my uncle’s. 

a. The house whose wall is white is my uncle. 

b. The house where wall is white is my uncle’s. 

c. The house which wall is white is my uncle’s. 

d. The house whose wall is white belongs to my uncle. 
46. They worked very hard in spite of their old age. 

a. Despite they were old, they worked very hard. 

b. Although they were old, they worked very hard. 

c. Though they were old age, they worked very hard. 

d. Even though they old, they worked very hard. 
47. The last student who was interviewed was John. 

a. The last student to be interviewed was John. 

b. The last student to interview was John. 

c. The last student was John to be interviewed. 

d. The last student interviewing was John. 
48. Jill hasn’t seen this movie before. Neither have her parents. 
a. Either Jill or her parents have seen this movie before. 
b. Both Jill and her parents have seen this movie before. 
c. Neither Jill nor her parents have seen this movie before. 
d. Jill with her parents has seen this movie before. 
49. I don’t find it difficult to get up early in the morning. 
a. I am used to get up early in the morning. 
b. I am used to finding it difficult to get up early in the morning. 
c. I used to to get up early in the morning. 
d. I am used to getting up early in the morning. 
50. Larry didn’t buy the shirt because she didn’t have enough money. 
a. If Larry hadn’t had enough money, she wouldn’t have bought the shirt. 
b. If Larry had had enough money, she would have bought the shirt. 
c. If Larry had had enough money, she would buy the shirt. 
d. If Larry had enough money, she would have bought the shirt. 
TEST 2
Choose the word whose underlined part is pronounced differently from the others:

1.
a. property
b. scholarship
c. belong
d. provide
2.
a. approach
b. address
c. landing
d. allow

3.
a. languages
b. types
c. addresses
d. approaches
Choose the word whose main stress is placed differently from the others:

4.
a. satisfy
b. prospect
c. sanguine {hopeful}
d. expect
5.
a. transition
b. tendency
c. tolerance
d. obstacle

6.
a. supervisor
b. expectation
c. disappointment
d. uncertainty
Make the correct choice: 

7. The _____ University of Ho Chi Minh City has a very large language centre. 

 
a. Natural 
b. National 
c. Native 
d. Nationality

8. I’ve lost my keys. Can you help me to look _____ them?

 
a. up 
b. after 
c. for 
d. at


9. You’re always asking me _____ money. Ask somebody else for a change. 

 
a. for 
b. about 
c. with 
d. to

10. I’m not very good _____ playing tennis. 

 
a. with 
 b. at 
c. for 
d. to

11. They wore warm clothes to protect themselves _____ the cold. 

 
a. in 
b. from 
c. about 
d. for

12. I don’t think he’s involved _____ such a crime. 

 
a. about 
b. with 
c. in 
d. for

13. I like to listen _____ the radio while I’m having breakfast. 

 
a. in 
b. through 
c. with 
d. to
14. No one enjoys being in debt, _____?

 
a. do they 
b. don’t they 
c. does one 
d. doesn’t one

15. I shall be working _____ office this evening. 

 
a. in 
b. at 
c. at the 
d. to the

16. If I had gone to the party last night, I _____ tired now. 

 
a. would be 
b. would have been 
c. have been 
d. am

17. English is not the _____ of the United States and Britain. It belongs to those who use it. 

 
a. population 
b. possession 
c. popularity 
d. profession

18. There are many _____ of English. 

 
a. various 
b. variously 
c. varieties 
d. variation

19. This country has a _____ climate. 

 
a. continental 
b. political 
c. economical 
d. cultural

20. He will _____ die if you don’t call a doctor. 

 
a. certain 
b. uncertain 
c. certainty 
d. certainly
21. I don’t feel at _____ when living with him in the same room. { at ease: comfortable}

 
a. times 
b. least 
c. most 
d. ease
22. English is an important foreign language _____. 

 
a. to master 
b. mastering 
c. in mastering 
d. master

23. He retired last month ______ his illness. 


a. despite
b. in spite of
c. because of
d. instead of

24. My teacher asked me where ______ the previous night. 


a. had I gone
b. I had gone
c. I woud go
d. would I go 

25. She _____ that she didn’t know what she would do. 


a. asked
b. wondered
c. told
d. said
Identify one underlined word or phrase that is incorrect:

26. My friend not only had excellent ideas, but also he did a good job. 

      
A
B
C
 D
27. It is saying that the price of gold is going up. 

      
A
B
C
D

28. I thanked the woman whom had helped me. 

      
A
B
C
D

29. Do you know the building whose the windows are painted green. 

      
A
B
C
D

30. He is said that he is one of the most famous doctors in the world. 

      
A
B
C
D

Read the following passage and make the correct choice:

W

here, when and how languages began is still a (31)_____. Many people think that language (32) _____ from human beings imitating animal sounds and (33) _____ they learned to use these sounds to communicate (34) _____ each other. Probably the language of primitive people (35) _____ of a complicated system of sounds. (36) _____, we can only trace the history of languages to the time (37)_____ they were first written and by then they were (38) _____ developed. 

31. 
a. mystery
b. game
c. play
d. film

32. 
a. threw
b. blew
c. grew
d. showed

33. 
a. if
b. that
c. when
d. where

34. 
a. for
b. about
c. into
d. with
35. 
a. made
b. consisted
c. performed
d. composed

36. 
a. However
b. In addition 
c. Moreover
d. Indeed

37. 
a. because
b. although
c. as
d. when

38. 
a. good
b. perfect
c. thorough
d. well
Read the following passage and choose the best answer:

Z

amanhof invented a new language called Esperanto to improve understanding between people of different countries. He showed Esperanto to his friends to find out what they thought about it. Later in the same year he went to study at a university in Moscow. He wanted to improve Esperanto. Zamanhof’s friends then worked hard to spread the new language. They tried to persuade schools throughout the world to teach it. However, only a few people today speak Esperanto because more and more people use English as a foreign language. 

39. What do you know about Esperanto? – Esperanto is ____. 


a. a newly-discovered country
b. a new language invented by Zamanhof

c. an expert on languages
d. a language teacher

40. What is the purpose of using Esperanto?


a. to improve understanding between people of different countries


b. to find out what they thought about it


c. to study it at a university


d. to spread the new language

41. Only a few people speak Esperanto because _____. 


a. they don’t like it

b. it is hard to learn


c. it is no longer used
d. it is less international than English

42. The verb ‘improve’ means ______. 


a. make worse

b. make known to the public


c. make better

d. make effective

Choose the correct sentence which has the same meaning as the above one :

43. My father often walks in the park with my mother every morning. 


a. My father often has a walk in the park with my mother every morning. 


b. My father often has walked in the park with my mother every morning. 


c. My father often has walk in the park with my mother every morning. 


d. My father often has had a walk in the park with my mother every morning. 

44. They seldom went to the cinema last year. 


a. Seldom did they went to the cinema last year. 


b. Seldom they went to the cinema last year. 


c. Seldom did they go to the cinema last year. 


d. Seldom do they go to the cinema last year. 

45. We didn’t intend to go for a walk with them. 


a. We had not intention of going for a walk with them. 


b. We had no intention to go for a walk with them. 


c. We had no tendency to go for a walk with them. 


d. We had no intention of going for a walk with them. 

46. “Did you phone me yesterday?” Tom said to Mary. 


a. Tom asked Mary if she phoned him yesterday. 


b. Tom asked Mary that she had phoned him the day before. 


c. Tom asked Mary if she had phoned him the previous day. 


d. Tom asked Mary if he had phoned her the day before. 

47. John missed the ferry because his car broke down. 


a. If John’s car hadn’t broken down, he wouldn’t have missed the ferry. 


b. If John’s car had broken down, he would have missed the ferry. 


c. If John’s car broke down, he would miss the ferry. 


d. If John hadn’t missed the ferry, his car wouldn’t have broken down. 

48. They knocked down the old house on the corner last year. 


a. The old house on the corner were knocked down last year. 


b. The corner was knocked down by the old house last year. 


c. The old house on the corner was knocked down last year. 


d. The old house was on the corner knocked down last year. 

49. Would you like to go out for a drink?


a. Do you feel like to go out for a drink? 


b. Do you feel to go out for a drink?


c. Do you feel liking to go out for a drink? 


d. Do you feel like going out for a drink?

50. He was tired, but he agreed to play tennis. 


a. Although he was tired, but he agreed to play tennis. 


b. Because he was tired, he agreed to play tennis. 


c. In spite of his tiredness, he agreed to play tennis. 


d. Despite tired, he agreed to play tennis. 

TEST 3
Choose the letter (A, B, C, or D) that corresponds to the correct answer.

1. Could you .................... me ten pounds until next Monday?


A. provide
B. borrow
C. lend
D. let

2. There are two ....................... of dirty clothes on the table.


A. piles
B. groups
C. columns
D. gangs

3. He wanted some meat, so he went to the ......................


A. butcher’s 
B. baker’s
C. laundry
D. chemist’s

4. He .................. English very well.


A. says
B. tells
C. talks
D. speaks
5. I want to .....................a table at the Savoy Restaurant.


A. maintain
B. manage
C. reserve
D. allow

6. Peter promised ................... me with my homework.


A. help
B. helping
C. for helping
D. to help
7. Tell Miss Davis .................. ring her boyfriend.


A. not to
B. mustn’t
C. doesn’t
D. shouldn’t

8. Paul can’t go to the football game ..................... his illness.


A. because of 
B. because
C. as 
D. for

9. They are studying pronunciation  with Mr Brown, ...................?


A. are they
B. do they
C. aren’t they
D. don’t they

10. Please keep the fire ....................... It’s so cold in here.


A. burns 
B. burn
C. to burn
D. burning
11. When I came to see him, he .................. at his desk.


A. worked
B. is working
C. was working
D. has worked

12. There is nothing very ..................... to do in that small town.


A. enjoyable
B. enjoying
C. enjoyed
D. enjoy

13. Hotels have developed .....................restaurants.


A. as rapidly as 
B. as rapid as
C. so rapidly that
D. as rapid than

14. I am extremely busy. I have very little .................... time.


A. busy
B. spare
C. good
D. enough

15. She was proud ........................... finishing the work in such a short time.


A. for 
B. of 
C. on 
D. over

16. ..................... do you prefer, English or French?


A. What
B. How
C. Which
D. Whichever

17. These vegetables don’t  taste ...................... to me.


A. well
B. deliciously
C. freshly
D. fresh
18. I spoke to her. She spoke to me. We spoke to .....................


A. ourselves
B. each other
C. us 
D. down

19. Most people enjoy ................. letters to their friends.


A. writing
B. written
C. to write
D. write

20. Her husband died long ago and she brought .................... her children on her own.


A. after
B. with
C. up
D. down

21. ...................... do you go swimming? –Twice a week.


A. How
B. How often
C. How long
D. How much

22. The pencil ...................... is lying on the desk is mine.


A. who
B. which
C. whom 
D. where

23. Keep on ..................... . I don’t want ...................... your work.


A. study/ to interrupt
B. to study/ to interrupt


C. studying/ interrupting
D. studying/ to interrupt
24. Mr. and Mrs. Phillips ..................... in London from 1990 to 1995.


A. lived
B. live
C. have been living
D. have lived

25. My parents weren’t strict with me at all. They let me .................. what I wanted.


A. do
B. did
C. to do
D. Done

26. If Peter ______, he would come.


A. is invited
B. was invited
C. would be  invited
D. had been invited

27. The weather is ________ to go for a picnic.


A. so good that
B. good enough for us
C. as good as
D. too well 

28. Peter doesn’t  like films.-  _________.


A. Either does his sister
B. Neither does his sister


C. His sister does, too
D. His sister doesn’t, neither

29. I would like to have my car __________.

a. repair

B. to repair


C. repairing

D. repaired
Read the passage and then choose the suitable answer

I

n an effort to produce the largest, fastest, and most luxurious ship afloat, the British built the Titanic. It was so superior to anything else on the seas that it was dubbed “unsinkable”. The owners were so sure of this that they provided lifeboats for only 950 of its possible 3,5000 passengers.

M

any passengers were abroad the night it hit an iceberg, only two days at sea and more than half way between England and the New York destination. Because the luxury liner was traveling so fast, it was impossible to advoid the ghostly looking iceberge. An unextinguished fire also contributed to the ship’s submersion. Panic increased the number of casualties as people jumped into the icy water or fought to be among the few to board the lifeboats. Four hours after the mishap, another ship, the Carphathia, rescued the survivors-less than a third of those originally abroad.

The infamous Titanic enjoyed only two days of sailing glory on its first voyage in 1912 before plunging into 12,000 feet of water near the coast of Newfoundland, where it lies today.

Questions:

30. Which of the following is NOT true?


A. The Titanic sank near Newfoundland.


B. The Titanic was the fastest ship afloat in 1912.


C. Only a third of those aboard died.


D. The Carpathia rescued the survivors.

31. Which of the following did not contribute to the large number of causalities?


A. speed
B. Carpathia
C. panic
D. fire

32. How many days was the Titanic at sea before sinking?


A. 6
B. 12
C. 2
D. 4

33. The Titanic sank:


A. about half way between England and New York


B. near the Carpathia


C. on its way to London


D. somewhere near New York

34. The Titanic had lifeboats for only 950 of its possible 3.500 passengers because


A. it was thought to be “unsinkable”


B. all luxurious ships were well constructed.


C. there was not enough space for more lifeboats


D. lifeboats were very expensive

Identify one underlined word or phrase that is incorrect:

35. There is a seven-o’clock train leaves  every morning.

      
A
B
C
D

36. Most all animals and many kinds of birds can swim naturally.

      
A
B
C
D

37. Unless you don’t take  my advice, you won’t be successful in your future career.

      
A
B
C
D

38. I am surprising at how much he smokes; I’m not used to it.

      
A
  B
C
D

39. Jack London is known as one of the great novelist of the world.

      
A
 B
C
D
Choose the word which has the underlined part pronounced differently from the rest:

40.
A. forks
B. lasers
C. biscuits
D. whips
41.
A. blood
B. food
C. wood
D. good

42.
A. adventure
B. advice
C. advertise
D. advance

Choose the word whose main stress is placed differently from the rest:

43.
A. militant
B. company
C. invaluable
D. military

44.
A. dangerous
B. mountainous
C. curious
D. adventurous
45.
A. artificial
B. reality
c.compulsory
D. expression

Read the passage and make the correct choice:

L

enin was born in April, 1870 in Simbirsk. His father died (46) ______he was sixteen years old. In September 1887 he entered Kazan University and he was arrested (47) ______ participating in student protests and was expelled from the University. Then he (48)______to study the literature of earlier generations of Russian Revolutionaries (49) ______ study law. He gained the license to practise law in 1892. One year later, he became (50) ______in Marxism. In April 1899, his book titled “The development of Capitalism in Russia” was published.

46.
A. because
B. when
C. although
D. during

47.
A. by
B. because
C. for
D. in spite of

48.
A. began
B. finished
C. looked forward
D. practised

49.
A. in order to
B. but
C. so
D. and
50.
A. rich
B. interested
C. keen
D. successful
TEST 4

Choose the word whose underlined part is pronounced differently from the others:

1.
a. village
b. passage
c. magazine
d. gesture

2.
a. none
b. won
c. son
d. on
3.
a. laugh
b. thought
c. bought
d. ought

Choose the word whose main stress is placed differently from the others:

4.
a. comfortable
b. industrial
c. passenger
d. interested

5.
a. employed
b. manager
c. flower
d. difficult

Make the correct choice :

6. He did some odd jobs at home _____. 

 
a. disappointed 
b. disappointedly 
c. disappointing 
d. disappointment

7. _____ were too many different nationalities in my class and we had to speak English. 

 
a. We 
b. They 
c. There 
d. These

8. Most children are ill-prepared for _____. 

 
a. employment 
b. employers 
c. employees 
d. employed

9. My homework is full _____ mistakes. 

 
a. with 
b. of 
c. about 
d. in

10. She’s not very keen _____ tennis. 

 
a. on 
b. at 
c. in 
d. of

11. He is occupied _____ his new job. 

 
a. in 
b. at 
c. about 
d. with
12. Did children receive a great deal of guidance _____ parents and teachers?


a. of. 
b. with 
c. from 
d. about

13. The weather wasn’t bad; _____ the contrary, it was very good. 


a. on 
b. for 
c. from 
d. in

14. They know little _____ what to expect. 


a. of 
b. about 
c. at 
d. with

15. I took a taxi to the hotel but the traffic was very bad. It _____ quicker if I _____. 

 
a. would be / walked  
b. would be / had walked 


c. would have been / had walked 
d. was / walked

16. Their study is getting on _____. 

 
a. satisfaction 
b. satisfactory 
c. satisfactorily 
d. unsatisfactory

17. He was _____ right when he said that the man was guilty. 

 
a. reasonable 
b. unreasonable 
c. reasonably 
d. reasoned

18. George has a _____ to talk too much. 

 
a. tendency 
b. tension 
c. tending 
d. tense

19. _____ for the job you should have a knowledge of English and French. 

 
a. Prepare 
b. Prepared 
c. Preparing 
d. To prepare

20. You can get _____ treatment in this hospital. 

 
a. occupying 
b. occupied 
c. occupational 
d. to occupy

21. Will you help me _______ this desk ?



a. move
b. moving
c. by moving
d. moved
22. Would you like _____ your bike or should I have a painter ______it for you ?


a. to paint / to do
b. painting / to do
c. to paint / do
d. painting / do

23. He warned me ______ late. 


a. don’t come
b. not come
c. not coming
d. not to come
Identify one underlined word or phrase that is incorrect:

24. There’s no telling what might be happened. 

      
A
  B
C
D

25. We had to ask the students to stop doing so much noise. 

      
A
  B
C
D

26. I can’t understand him wanting to buy such an expensive car. 

      
A
  B
C
D

27. You must to remember to lock the door before leaving the house. 

      
A
  B
C
D

28. After get to know her at school, he finished by asking her address. 

      
A
  B
C
D

Read the following passage and make the correct choice :

Except for a few high school students who can continue (29) _____ their studies in colleges or universities, (30) _____ school-leavers experience their (31) _____ from school to work with a feeling of hope and worry. As for them, the end of school (32) _____ the beginning of their independent new life. They are eager for their first job (33) _____ it will help them contribute a bit to their family budget, feel better about themselves and above all, give them desirable (34) _____ of the worker. But they soon realize (35) _____ they are ill-prepared for employment. They know little about their future work and have no idea of the tasks (36) _____ in it. When the time to start work gets nearer, many of them begin to worry and (37) _____ up all sorts of fearsome prospects in their minds. 

Thus, it is the responsibility of the family, the school and the whole society to help school-leavers get over the obstacles, uncertainties and even disappointments (38) _____ usually encounter when they start work. 

29. 
a. on 
b. with 
c. in 
d. during

30. 
a. most of 
b. mostly 
c. most 
d. a lot

31. 
a. transition 
b. translation 
c. transmission 
d. transit

32. 
a. gives 
b. depends 
c. finishes 
d. means
33. 
a. if 
b. though 
c. because 
d. when

34. 
a. status 
b. statue 
c. station 
d. state
35. 
a. what 
b. which 
c. if 
d. that
36. 
a. solved 
b. involved 
c. taken 
d. interested

37. 
a. go 
b. get 
c. look 
d. build
38. 
a. they 
b. which 
c. who 
d. that

Read the passage and choose the best answer:

E

dison’s first great interest was chemistry and he read all he could find about it. He was only ten when he began to grow and sell vegetables so that he could have money to buy chemicals for making experiments. When he was fifteen, he got a job selling magazines and fruit on a train and began printing a weekly newspaper on the printing press set up in the luggage van. But one day, one of his bottles of chemicals broke and set fire to the van. He was put off the train and lost the job. 

39. What was Edison greatly interested in?


a. selling vegetable
b. growing vegetables
c. buying chemicals
d. studying chemistry
40. How did he earn money?


a. by making experiments
b. selling magazines and fruit


c. being interested in chemistry
d. selling chemicals

41. He needed money_____. 


a. to buy chemicals for experiments
b. to grow vegetables


c. to set fire to the van
d. to print a weekly magazine

42. He was put off and lost the job because_____. 


a. he set up the printing press
b. he began printing a weekly newspaper


c. he carelessly set fire to the train
d. he sold magazines and fruit on a train

Choose the correct sentence which has the same meaning as the above one :

43. We can avoid waiting by booking the tickets in advance. 


a. If we book the tickets in advance, we won’t have to wait. 


b. We can avoid waiting even though we book the tickets in advance. 


c. We can wait because we book the tickets in advance. 

 
d. We can avoid waiting so as to book the tickets in advance. 

44. It took Jane three hours to sort out her stamps. 


a. Jane spent three hours to sort out her stamps. 


b. Jane sorted out her stamps in three hours. 


c. Jane spent on three hours sorting her stamps. 


d. Jane took three hours to sort out her stamps. 

45. He was given a chance to stay on at this garage. 


a. They gave a chance him to stay on at this garage. 


b. They gave him to a chance to stay on at this garage. 


 
c. Someone gave him a chance to stay on at this garage. 


d. A chance gave him to stay on at this garage. 

46. He made a great discovery. He was very proud of it. 


a. He was very proud of what he made a great discovery. 


b. He took pride in making a great discovery. 


c. He was interested in a great discovery. 


d. He was very proud of he made a great discovery. 

47. I’m sorry I missed your birthday party. 


a. I wish I had missed your birthday party.

 
b. I wish I didn’t miss your birthday party. 


c. I wish I missed your birthday party. 


d. I wish I had attended your birthday party. 

48. “You’d better put your money in the bank. ” I said. 


a. I advised him to put his money in the bank. 


b. I advised to put his money in the bank. 


c. I advised his money to be put in the bank. 



d. I advised he’d better put his money in the bank. 

49. He prefers playing golf to swimming. 


a. He would rather playing golf than swimming. 


b. He would rather play golf to swim. 


c. He would rather play golf than swim. 


d. He would rather play golf than swimming. 

50. The bag was so heavy that she couldn’t carry it upstairs. 


a. The bag was too heavy for her to carry it upstairs. 


b. The bag was so heavy for her to carry upstairs. 


c. The bag was heavy enough for her to carry upstairs. 


d. The bag was too heavy for her to carry upstairs. 
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